¥ Model: ES3010
NAKAYAMA Art# 049241

GARDEN TOOLS EXPERT

Fig. 1/1
30| Pn
29 |  Spring
28 Knob scrow
21| Nut(M6X5)
26 |  Screw(ST4%20)
25 | Right housing
2 | Screw(MBX70)
2 Handle 53 Nut(M8)
(29) 2 |  NutM8x6.5) | 52 | Grinding wheel
‘ 21 Screw(M4x12) | 51 Rondelle
@ : 20 | Nut(M4x3) 50 |  Spindle
5 19 Grinding wheel guard | 49 |  Wheel
18 Guarding cover | 48 Nut(M8X6.5)
(28) 17| NutlM6X5) 47 [ Knob screw
16 | Balt 46 | Nut(M6X5)
@ 15 Wheel 45 Chain-Lock
& 14 | Rotor 4| Nut(M8X6.5)
13 Brush holder 4 Knob screw
@) 12| Cabonbush | 42| Spring
@ 1 Stator 41 Screw(ST4% 8)
10 Bearing 40 Knob
@ 9 Left housing 39 Base
Q) 8 Inductor 38 | Screw{MBX45)
7 Switch 37 | Screw(M8X100)
6 Capacitor 36 Chain-Carrier
5 Terminal 35 Screw(M5 X 22)
4 Screw(ST4XB) | 34 |  Right bracket
&) 3 Cable clamp 33 Left bracket
2 Cable tube 32 Chain-Lock
1 Cable & Plug 31 | Nut(Ms)
No Neme No Neme

Version #1 2023/07



